TABLE5 Number of Observations for Independent-Samples t Test

SIGNIFICANCE LEVEL (TWO-TAILED TEST)

o=.01 a=.02 a=.05 a=.10
POWER— 9 95 90 80 50| .99 95 90 80 50| .99 95 90 8 50| .99 95 90 .80 .50
20 5
: 137 | 20
25 124 88 | .25
30 123 87 61 | 30
35 110 90 64 102 45| 35
40 85 70 100 50 108 78 35| .40
45 118 68 101 55 105 79 39 108 8 62 28| .45
st 50 9% 55 106 & 45 106 8 64 32 8 70 51 23| .50
17 M2
—s 55 101 79 46 106 88 68 38 8 71 53 27| 112 73 58 42 19| 55
60 101 8 67 39 9 74 58 321|104 74 60 45 23| 8 61 49 36 16| .60
65 | 8 73 57 34104 77 64 49 27| 8 63 51 39 20| 7% 52 42 30 14| 65
701100 75 63 50 29| 90 66 55 43 24| 76 55 44 34 17] 66 45 36 26 12| 70
75| 8 - 66 55 44 26| 79 58 48 38 21| 67 48 39 29 15| 57 40 32 23 11| 75
80| 77 58 49 39 23| 70 51 43 33 19| 59 42 34 26 14| 50 35 28 21 10| 80
8| 69 51 43 35 21| 62 46 38 30 17| 52 37 31 23 12| 4 31 25 18 9| 8
90 | 62 46 39 31 19| 55 41 34 27 15| 47 34 27 21 11| 40 28 22 16 8| 90
95| S5 42 35 28 17| S0 37 31 24 14| 42 30 25 19 10| 36 25 20 15 7| 95
100 50 38 32 2 15| 45 33 28 22 13| 38 27 23 17 9] 33 23 18 14 7| 100
o =.005 a=.01 a=.025 o=.05
SIGNIFICANCE LEVEL (ONE-TAILED TEST)
TABLE5 Number of Observations for Independent-Samples t Test (continued)
SIGNIFICANCE LEVEL (TWO-TAILED TEST)
a=.01 a=.02 a=.05 a=.10
POWER—> 9 9 9 8 50| 9 9 9 8 5S0] 9 9 9 .8 50} 99 95 .90 80 .50
11 | 42 32 27 2 13| 3% 28 23 19 11| 32 23 1 14 8| 27 19 15 12 6|11
12 | 36 27 23 18 11| 32 24 20 16 9| 27 20 16 12 7| 23 16 13 10 5|12
13 31 23 20 16 10] 22 21 17 14 8| 23 17 14 1 6| 20 14 1 9 5|13
14 | 27 20 17 14 9| 24 18 15 12 8| 20 15 12 10 6} 17 12 -10 8 4|14
15 | 24 18 15 13 8| 21 16 14 11 7| 18 13 11 9 5|15 1 9 7 4,15
16 | 2t 16 14 11 7| 19 14 122 10 6| 16 12 10 8§ 5| 14 10 8 6 4|16
17 19 15 13 10 7} 17 13 11 9. 6| 14 11 9 7 4| 12 9 7 6 3|17
18 17 13 11 1 6| 15 12 100 8 5} 13 10 8 6 4| 11 8 7T 5 18
1.9 6 12 1 9 6] 14 11 9 8 5|12 9 7 6 4| 1W0 7 6 5 1.9
a-p2] 20 | 4 1 10 8 6{ 13 w0 9 7 S5/ 1 8 7 6 4| 9 7 6 4 20
c
2.1 3 100 9 8 5| 122 9 8 7 5|10 8 6 5 3f 8 6 5 4 2.1
22 | 2 1 8 7 5| 1 9 7 6 4 9 7 6 5 8 6 5 4 22
23 1 9 8 7 510 8 7 6 41 9 7 6 5 7 5 5 4 23
24 1 9 8 6 5| 10 8 7 6 47 8 6 5 4 7 5 4 4 24
25 v 8 7 6 4 9 7 6 S5 4| 8 6 5 4 6 5 4 3 2.5
3.0 8 6 6 5 4| 7 6 5 4 3| 6 5 4 4 5 4 3 3.0
35 6 5 5 4 3| 6 5 4 4 - 5 4 4 3 4 3 35
4.0 6 5 4 4 5 4 4 3 4 4 3 4 40
o =.005 a=.01 o =.025 oa=.05

SIGNIFICANCE LEVEL (ONE-TAILED TEST)

Source: “Number of observations for t-test of difference between two means.” Research, Volume 1 (1948), pp. 520-525. Used with permission of the Longman Group
UK Ltd. and Butterworth Scientific Publications. -




